ADRC y AADE son ;me'ian*k_{‘

3 [ AARC |A AdE
x 6 _.G_:_E-..
k g_k = X <-h
45-c\W =%
D e € ¢ ~
h" 4B _¥x

-
Vinerso = th= =T ¥ 4%",?" # %xz(e-x)

Vix)= 4L (6x% xa) Dow\/=[0.6]

3
\ u
\/ (x\:—"—'—é—t (42::—3)‘2) =O F=£> A2x-2e> :.;?
Siam ' //‘1 { }{{////
o 4 [

\j apca:\%a SU WaX\Mmo  La =4 ==

—_— E[ Ladio deR c&'m&\'o e Haun
ho

q0°= xl4\\L=4>\;\: 100 —5*

10¢m V‘—-—ﬂx b\

\/(,,\__.rx o< Yom- [oqo]
V(Y] gjx&?l\% - -

X \@—
V' k)= 20 X(%xao—ﬂ—m _ 162001 < — 33
ghoo—x* BAO— x*
x =20
V-0 A= 162007 x - 3TTX= Opp> 16200 ~32 -0 4= ¥=5400
S1GNO i f aSELS BSSaSaEaaE Froirsute
\l\ "SOEé //&) 208G ;:

En x=30€G cm \/ Aofam!a.. U Waxamo. Dac 'Lar\'i:a,
lO-& angx+male$ C\.l. )Df (GLQ‘EX Lo
x= 3086 cn

'*I: E[oo_gqoo = & 240> = 30(3




